
Is it a Match?



Mr. Smith is a baker. 

He uses an oven to do his job.



Mr. Brown is a pilot.
 

What capital resource would he use to do his job?

Does he use an oven to do his job?



Mr. Brown is a pilot.
 

What capital resource would he use to do his job?

Does he use an oven to do his job?

NO

He would  use an airplane to do his job.



Mr. Green is a nurse.

Would he use an airplane to do his job?

What capital resource would he use to do his job?



Mr. Green is a nurse.

Would he use an airplane to do his job?

What capital resource would he use to do his job?
NO

Mr. Green  would use a thermometer to do his job.



Mr. Marshall is a farmer.

Would he use a thermometer to do his job?

What capital resource would he use to do his job?



Mr. Marshall is a farmer.

Would he use a thermometer to do his job?

What capital resource would he use to do his job?
NO

He would use a tractor to do his job.



Human resources use special capital 
resources to do their jobs.
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